
	
You are going to listen to a report on how new high-tech elevators work. First you will have 
45  seconds to study the task below, then you will hear the recording twice. While listening, 
choose the correct answer (A, B, C or D) for each question (1–6). Put a cross () in the correct 
box on the answer sheet. The first one (0) has been done for you.

After the second listening, you will have 45 seconds to check your answers.

	  

High-tech elevators
0 On their way up lift users can

A   hear exciting sounds.
B   look through transparent doors.
C   enjoy a marvellous view.
D   switch off the lights.

1 The basic concept the lift works with is

A   brand-new.
B   difficult to understand.
C   rather simple.
D   not really new.

2 Burj Khalifa’s elevator traffic has been optimized by

A   installing better engines.
B   training lift attendants.
C   improving user-friendliness.
D   using calculations.

3 Compared to the one in Dubai, the U.S. firm’s lift is

A   less smart.
B   more advanced.
C   much the same.
D   completely different.



4 When users enter the lift they are

A   asked where to go.
B   taken to their destination. 
C   told to press their button.
D   informed about waiting time.

5 New elevator software will

A   minimize socializing.
B   save maintenance costs.
C   improve communication.
D   get workmates together.

6 Elevator automation will force the Washington D.C. lift attendant to

A   do on-the-job training.
B   pass a qualifying test.
C   look for a new job.
D   put up with a minor role.



High-tech elevators
Von der 

Lehrperson 
auszufüllen

0 A X B C D richtig falsch

1 A B C D

2 A B C D

3 A B C D

4 A B C D

5 A B C D

6 A B C D
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